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X4 X3 Xz X1
501.10 504.34 501.65 501.02 1
500.41  499.47  498.89  499.80 2
500.41  500.34 49835  497.12 3
499.44  499.74 50139  500.68 4
499.44  498.00 500.92  495.87 5
500.03  502.10 49922  497.89 6
503.51 498.74 501.04 497.24 7
505.37  499.06 504.53  501.22 8
502.39  497.96 501.11  499.15 9
49933 500.05 505.99  498.90 10
500.72  497.57 4978  497.38 11
496.48  501.35  500.99  499.70 12
501.27 49521  500.46  501.44 13
501.27 50032  495.54 49826 14
501.22  500.60 497.00 497.57 15
500.44  500.60  502.07  500.95 16
502.36  501.18  500.56  499.7 17
504.98 501.18  502.09 501.57 18
501.84  498.68  500.92  504.20 19
501.84  500.67 501.82  498.61 20
49736  500.67 501.82  499.05 21
501.95 501.79 494.08 497.85 22
503.56  503.06 503.12 501.08 23
502.88  501.09 501.18 50075 24
49939 498.76  501.44  502.03 25
(Springs) 9-4
(1)
. (=STDEV(B4:E4)) (34)
[(128)  (15)
=) (P12) (%)
(AVERAGE(J4:128)
(P16) (= P8*P12) (P14)
(= P7*P12)
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— AVERAGE(F4:F28)
= P20+P6*P12
= P20-P6*P12 :
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(UCLx) (%) (X)
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